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s Please check that this question paper contains 11 printed pages.

¢ Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

s Please check that this question paper contains 32 questions.

¢« Please write down the Serial Number of the question before
attempting it.

¢ 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 am. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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mﬁa’br:
(i) 2T E@vel & gt 3T FEerE #
(i) T Y99 & [FEa 3% 359% g e o § |

(iii) ¥99 &I 1~ 5 947 17 - 21 37 Tgerens Jo7 8, 575 5e9% F1 1 3% 8 |
FTHT A% FT I e T 7 5 7ifera 8

(iv) X797 G 6- 10 3K 22 - 26 FTHIHF 94 &, 977 Fe3d% & 3 3F & |
Ui 1 I AT 60 5] @ 3fie 787 g7 9iET |

(v)  §97 GEqT 11 - 13 317 27 - 29 4 FTgereass ¥97 &, 577 g% & 4 3% 7 |
gl &7 I GIET=T: 70 Y&l & 37fies 787 g1 ey |

(vi) Y97 GEIT 14- 16 3 30- 32 IEIIeHF I &t 597 &, 1574 i+ &
6 3% 8 | Irdh %1 Io7 = 100 el & e 787 547 TilET /

(vii) RIS (%) F97 FeTEgmia 597 & |
(viii) I GITH YT TEICHF FIH FET 9T JIGYT FR 3 73 5 & a5
few s =fET |

General Instructions :

(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each.

(i11)  Guestions No. 1= 35 and 17 = 21 are very short-answer questions carryving
I mark each. They are required to be answered in one sentence each.

(i)  Guestions No. 6= 10 and 22~ 26 are short-answer queslions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

() Chwestions No. 11 = 13 and 27 = 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) Questions No. 14 — 16 and 30 - 32 are long-answer questions
carrving 6 marks each. Answers to them should normally not exceed
100 words each.

(vit)  Guestions marked star (%) are value-based questions.

(vitt) Answers should be brief and to the point and the above word [imits
should be adhered to as far as possible,

28/1 2
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©uE A
SECTION A

#1, TR A faesht 9ot A wiemfEs w0 wE w fom | senen |ure g %
HeH H ZEeRT STUE god =1 B 7 1

The government has started promoting foreign capital. What is its

economic value in the context of Production Possibilities Frontier ?

2,  aftamE a9 i aftam s | 1

Define indifference curve.

3.  Himra 3aare sk aftymar s | 1

Define marginal product.

4, U 3Ic9g 6l AR Yfd F F1 AT 2 7 1
What is market supply of a product ?

5.  Tqul redrfueRr & arfi B 2 1

What is imperfect oligopoly ?

6.  Ic9IEH GYEHT 9% Addd 41 Bldl 8 ? GHHATSU | 3

Why 1s Production Possibilities Curve concave 7 Explain.

7. 99 U% & ol hiHd T 10 H 9 H T 8 Wid SIS B A 8, Al FEh HOT
20 IHT3 | 9¢ L 24 IHE &1 A1 & | 39 9%q 6l 717 6l FHd A= F 9K °
‘e fafe’ g 319 == %8 gha B ? 3

When the price of a good falls from ¥ 10 to ¥ 8 per unit, its demand

rises from 20 units to 24 units. What can vou say about price elasticity of

demand of the good through the ‘expenditure approach’?

28/1 3 F.T.0.
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8.  TWISU dehrehl wfd foRe weRr we i g RRelt g < ofd wn fufes 2 3
SAerET
AT ATl 61 $Hd Fe 9w ©F w0 g TR aeg 1 gfd w0 fuies
21

Explain how technological progress is a determinant of supply of a good
by a firm.

OR

Explain how input prices are a determinant of supply of a good by a
firm.

9.  3iEd grENfe (3mm) Héa $ud & SR #9 gdl 8 2 3

Why is Average Revenue always equal to price 7

10.  FcuieeRi § HHT 1 HEa S #= Bdl § ? GREE | 3

Why is the number of firms small in oligopoly ? Explain.

11. UF IUUH haa 2l aegaft X 3 Y o1 3990 ar @ 3R uqed ° R |
femmsu fF /@ ag X <1 g gedi &, a1 U9 a5g X 1 &0 9 gl
2 | Iy faveror &1 3w fifvw | 4

HYET

et axq it & M Fimd F YR W I9ARE FE 77 Hom FF 97 3w 9wg H
fepeft o @iz 2 suifiar favewo 1 sy $ifse |

A consumer consumes only two goods X and Y and is in equilibrium.
Show that when the price of good X rises, the consumer buys less of
good X. Use utility analysis.

OR

(ziven the price of a good, how will a consumer decide as to how much
quantity of that good to buy ? Use utility analysis.

12, “afen” awg @1 219 SR M T UF Igre i HEEa # U | 4
(Give the meaning of “inferior” good and explain the same with the help
of an example.

28/1 4
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ST gd gy “afadt srqumat 1 fm’ auEme | 4
(ziving reasons, explain the ‘Law of Variable Proportions’.
TUHTZC F1 ek SAYAH 956 () 19 6 317 goal 3R () 39 2 2 | 6
HYET
TEITeHs 3arew i weEar ¥ ‘ufgrarga it dmm g i sragnon anens |
AR 956 W 3R SFaaEr ft HuIe |
Explain why 1s an indifference curve (a) downward sloping and
(b) convex.
OR
Explain the concept of ‘Marginal Rate of Substitution’ with the help of a
numerical example. Also explain its behaviour along an indifference
curve.
& F1 o an ° F=fafaa e 8, dinma drm it g @ty (3mm) *
HYR 9 4 1 HdeH Icdied i FIST | HRO FGE0 | T6 e W Ay
ft s Fife | 6
ET L A FEIH (317H) A ANTA
(378) ®) ()
1 6 7
2 12 13
3 18 17
4 24 23
5 30 31
IFrom the following information about a firm, find the firm’s equilibrium
output in terms of marginal cost and marginal revenue. Give reasons.
Also find profit at this output.
Cutput Total Revenue Total Cost
(units) (F) (¥F)
1 6 7
2 12 13
3 18 17
4 24 23
5 30 31
5 P.T.O.
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16. UH IEq o STAR Hged H 2 | 9&g i uit °§ S’ ot 8 | W9 % e
Hqe 4 9H d% 39 UfEdd % R0 EH aredt wuial h oEen §uensy |
T@ETfeE %1 99m wifaw |
Market of a commeodity is in equilibrium. Demand for the conumodity
‘decreases’. Explain the chain of effects of this change till the market
again reaches equilibrium. Use diagram.

iz : et gv7 dac glegia ahemferal & g go7 G831 16 & T/ W& |

Note : The following question is for the Blind Candidates only in licu of

Q. No. 16,
U g 1 SR Hqod d 8 | g% 6 "5 0 FEY AT 8 | 99 W 2
T § 3T ae 58 Uiadd & S0 g4 drel 9TEl il #jEen ey | gEd
3R 91 % "ol W hmdl i gern ot Hifse |
Market for a commodity is in equilibrium. Demand for the commeodity
‘decreases’. Explain the chain of effects of this change till the market
again reaches equilibrium. Also compare prices at old and new
equilibriums.

RC |
SECTION B

17. wrafy s & sfigrs 2 9
What are time deposits ?

18. whift sawet <t gftamer difse |
Define inflationary gap.

19. O U9 & o st 2 9
What is full employment ?

20. TR wrer Fi aftums i |
Define fiscal deficit.

58/1 6
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faesft fafma =0 & afem dfso | ]
Define foreign exchange rate.
@ wRv (el gEl) ® Fn oAt 2 7 R gerere 9t v W
JeTE SIfU S 35T ST o Hodvl 9 984 il YHE SHSIE0 | 3
What are externalities ? Give an example of a positive externality and
its impact on welfare of the people.
HE1 1 ‘TEl =hi 3h1g R 6] Haw HHSATSC | 3
HYET
el =1 ‘ARG YT 1 WHeh S I Hewd TSR |
Explain the significance of the ‘Unit of Account’ function of money.
OR

Explain the significance of the ‘Standard of Deferred Payment’ function
of money.
LR aeie & Hed # Fraferfaa worea wifs 2 an dofma wify ik @i 2 3
() =R urEEt
(i) fafaw
Is the following a revenue receipt or a capital receipt in the context of
government budget and why ?
(i) Tax receipts
(11) Disinvestment
WAH HqeM et H TR (TEed) S GWEnH 7 oFedl H
qaiRT | 3
Distinguish between ‘autonomous’ and ‘accommodating” Balance of
Payments transactions.

7 P.T.O.
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g @ ° v | faceh fofme  ag @ 2 | soe fefa @ @R oy e
YT B 3 2

FForeign exchange rate in India is on the rise recently. What impact is it

likely to have on exports and how ¥

g1 Sh 1 “HIHR 1 sk HA THAIY |
HAYAT
$g1a seh 1 ‘el w1 Sk HE THIAEY |
Explain ‘Banker to the Government’ function of the central bank.
OR

Explain ‘Bankers’ Bank’ function of the eentral bank.

ush referaryn, St & dqem § B, % eR o Frafofaa sl @ dima sadm
Sgft 1 TR HI

TH Y = 2000
WEd (Fdd) UM s = 200
a9 == = 100

Calculate Marginal Propensity to Consume from the following data

about an economy which is in equilibrium :

National income = 2000
Autonomous consumption expenditure = 200
Investment expenditure = 100

I AT G WR H W T d T8 2 | 7% frm anfiie gem i gmiar 2 2
HAZTIY |

Tax rates on higher income group have been increased. Which economic

value does it reflect 7 Explain.

8
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30. fm=fafas & ‘S ara w fea ode 3ae’ 3 ‘awa ud sy o

1 qiehe Hifau 4,2
(& g &)
(i) =T g |t gua STeeH 90
(i)  Aigll a9 800
(iii)  fagwi = frae =1e] axaiam (=) 30
(iv)  Tertmm q9m Taeed 300
(v) T @t frae w=rs o 50
(vi) THaITeRl grn SR e ST 100
(vii) o9 500
(viii) =TS 400
(ix) 1= ISft &1 39 200
(x) THaa ey #= 250

Calculate ‘Net National Product at Factor Cost’ and ‘Gross National
Disposable Income’ from the following :

(< in Arab)
(1) Soclal security contributions by emplovees 90
(1)  Wages and salaries 800
(i11) Net eurrent transfers to abroad (=) 30
(iv)  Rent and rovalty 300
(v)  Net factor income to abroad 50
(vi)  Social security contributions by emplovers 100
(vii) Profit 500
(viil) Interest 400
(ix)  Consumption of fixed capital 200
(%) Net indirect tax 250
28/1 9 F.T.O.
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31. U <31 i YA AM F AFTHA ad T H=fcfgd & @y F41 s998n 6
HHT =8 ? 394 I 1 RV 999 910 | 6

(i)  dg war-fuar 1 @ we

(i) ™ = %1 YraE

(iii) TR A1 gictd Ham ¢4 W =54

How should the following be treated in estimating national income of a
country ? You must give reason for your answer,

(1) Taking care of aged parents

(i)  Payment of corporate tax

(i11)  Expenditure on providing police services by the government

82, &=d AR o9 %o 6l HEEd § G9HR 6 AYSIawd1 +d dqed H aldl 8 |
77 ot Tazmge f w@ sidemaey @geq ® 9 81, a1 sidegaren | @ qftads
TG & | tErfed 1 9En shifa | 6

AT

T 9k H ITUN 9%k UTH A o gF fan SE 9l =0 |91 | @t &6
wam Hifsu |

When is an economy in equilibrium ? Explain with the help of Saving
and Investment functions. Also explain the changes that take place in

an economy when the economy is not in equilibrium. Use diagram.

OR

(Outline the steps required to be taken in deriving the Consumption

Curve from the given Saving Curve. Use diagram.

28/1 10
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71z : T 3o7 Facr givgtT afemferar o yo7 gear 32 & v WE |
The following question is for the Blind Candidates only in lieu of

Note :

28/1

Q. No. 32

e & ofomn dfe | w=E ot fEw wem g ode s w1 daed
Tazse | 77 ot Tuemse 5 w9 sideen Hqe 4 7 &, i STderasyr § &
qfigd afd & |

AT

F9U BT H 1 A" B ? 99d Bod § 39 8 uie R S Heear 2
HAZET |

Define Investment. Explain national income equilibrium through Saving
and Investment function. Also explain the changes that take place in an
economy when the economy is not in equilibrium.

OR

What is Consumption Funetion ? How can it be derived from the Saving
Funetion ? Explain.

11
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